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SN =MEFD

=R B [EDCIERE-TRE TIPS
S ™A FEHIYE MG (HEAFHI AT AL) (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
02 2teltl 2,900 0 2,900
OO0llls Z22Y SESAIY(=2=2X1)
146,420,000 *1.98% 2,900
Dl 2,900
405 Ko SHI 24,000 0 24,000
Dl 24,000
01 JHAHE 2 Z 5 =S H 24,000 0 24,000
Od2Y =2E (7 FUMEXI L, AF) 24,000
— OFOF2I X} 3,350,000& =4 LH 13,400
Jl 13,400
—dAMNOI2 1,150,000& =4 CH 4,600
Dl 4,600
— 8 XHE A 1,500, 000& =4 LH 6,000

Il 6,000




> A
A & 0l & AF 2 E A A
20138 20 A=2S0II=2 &EH
SN ALSI S X
My RO EMBEE
EHel: A2 S HMEF(AZS0I13) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
At = X ot 4,670,074 4,189,249 480,825
= 591,040
< 103,432
Al 3,975,602
S0 =MESE 4,643,161 4,162,336 480,825
= 591,040
< 103,432
Al 3,948,689
JEs0MEFE(AdES0HIIB) 702,100 722,100 220,000
= 481,600
< 84,280
Al 136,220
AZSH=2dA 2R3t 700,100 720,100 /20,000
= 480,000
< 84,000
Al 136,100
307 21201 A 700,100 720,100 220,000
= 480,000
< 84,000
Al 136,100
01 222l 700,100 720,100 220,000
O=eRg24az Ze2d 72, X2
600,000,000 =14 600,000
= 480,000
S 84,000
Al 36,000
Ol MASE S+=2dH X
100, 100, 000& 100,100
AZSH=ZdA HHE=a XE 2,000 2,000 0
= 1,600
< 280
Al 120
307 gl2tol & 2,000 2,000 0
= 1,600
< 280
Al 120
01 2222l 2,000 2,000 0
Ogzsd==x ti==3 XI& 200,000& 10 2,000
= 1,600
< 280
Al 120
E=0geeY ¢ NA(9z2=0213) 3,941,061 3,440,236 500,825
= 109,440
< 19,152
Al 3,812,469
AZSHIERNA E2d 132,832 120,320 12,512
= 85,440




AN ALEI =X

My RO EMBEE
H€el: A2 20HYER2Y ¢ N (d=520HI3) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 14,952
Al 32,440
101 @144 dl 132,832 120,320 12,512
= 85,440
< 14,952
Al 32,440
03 RIAHA2Z 2R E > 132,832 0 132,832
Oodz g2l Atel 2| 33,208,000& x4 132,832
= 85,440
< 14,952
Al 32,440
IES0HIYR J=2d 30,000 13,680 16,320
= 24,000
< 4,200
Al 1,800
201 £B-2%| 20,400 6,480 13,920
= 16,320
< 2,856
Al 1,224
01 At 22l 20,400 6,480 13,920
OYRF=A Ler2d| 1,700,000 128 20,400
= 16,320
< 2,856
Al 1,224
202 044l 9,600 7,200 2,400
= 7,680
< 1,344
Al 576
01 = LH o4 1l 9,600 7,200 2,400
Oodzzo&elAt EF0H
200,000& x4H 123 9,600
= 7,680
< 1,344
Al 576
=0l d 3,778,229 3,306,236 471,993
308 XX EHHSOIA 3,778,229 3,306,236 471,993
05 HXHHMARE = 3,778,229 3,306,236 471,993
Ofzssd=s S XASALHRE
3,767,935,000& 14 3,767,935
O zsHIRAE M A== XS AHIRE
10,294,000& 14! 10,294
MEES(AISX ) 26,913 26,913 0
BEINE(AEZ=20012) 26,913 26,913 0
B&XE 26,913 26,913 0
802 gr&t 3 JI EF 26,913 26,913 0




AN ALEI =X

HH: HRES(AB=ET D)
€@l BENE(A2380II3)
= - — -|Ll;=|
A - ER(EN) - AR - B of & o4 e
02 Al - SHIEXSEES 26,913 26,913
O330= 0l =g ttats 6,000,000& 6,000

1,260,000& 1,260
OJIEt+=g Btet= 19,653,000& 19,653




> A
A & 0l & AF 2 E A A
20138 20a HASFMEotd =22 &l
SN ALSI S X
M XNGAE =X B
OSl: HAS FUMBOEND N (HASTAMBANTS CER-ED
x 5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
At = X ot 821,200 1,075,000 A 253,800
NS A SR S8 821,200 1,075,000 A 253,800
MAS FOMEUHINZ KNI (HNL2SEFUMEBOHTZ 821,200 1,075,000 253,800
2el)
HAS FoME HETs N2 284,800 354,800 A70,000
201 L4l 2,400 2,400 0
01 At 22l 1,500 1,500 0
OgRFA Ler2IH| 500,000 *3H + 1,500
02 =24l 900 900 0
ORI &8 3223 300,000 =304 7 900
202 O4dl 2,400 2,400 0
01 = LH 4 bl 2,400 2,400 0
ONASHMEGHEEIZ 28 SHOHH
20,000 *30L 401 £ A 2,400
501 8Xt= 280,000 350,000 A70,000
01 22t Tt= 280,000 350,000 A70,000
ONASHENHETSEN 280,000, 000& 280,000
MASO7 dMEUXA 536,400 681,300 A 144,900
201 L4 510,400 643,300 A 132,900
01 At 22l 510,400 643,300 A 132,900
O&AMEXZ 500,000
— AR XR 20,000,000& =24 Al CH 480,000
—HAEXH 10,000,000 =2 All CH 20,000
ORSMEN++E U BAH SILEE
400,000 »26 Al CH 10,400
307 21201 A 26,000 38,000 A 12,000
10 AFRISXIE X 26,000 38,000 212,000
OY=X Ztf - &8 XI& 1,000,000 26 Al CH 26,000




N = 0l & At & Ml A

20138 &= = 0ll&t JIBHAIE & XA
AN S AHE D

X{ XH -
S =

SA BB ES(EA) - MRAY - Ol &+ o4 SSa HmEET
H = 3,564,761 3,544,000 20,761
Het TAJIBERE & & 6,000 6,000 0
[BrAlE 2E 22l (D] 6,000 6,000 0
JIBtAIE 2 E 3 21t 6,000 6,000 0
201 Let24dy] 6,000 6,000 0
01 At 2teltl 6,000 6,000 0
Ogt==&H| 500,000& = 12& 6,000
MHPES(SAIHE D) 3,558,761 3,538,000 20,761
HEAHN XIS (DIBHAIE) 2,500,000 0 2,500,000
LHEHHXI & 2,500,000 0 2,500,000
701 JIEtSI HE &3 2,500,000 0 2,500,000
01 JIEtl AN ES 2,500,000 0 2,500,000
OLEsHE = 2,500,000,000& =14 2,500,000
SEXEIEAIE) 1,058,761 3,538,000 AN2,479,239
B&XE 1,058,761 3,538,000 AN2,479,239
802 Bt S JIEt 1,058,761 3,538,000 A2,479,239
03 Ugd=3s 1,058,761 3,538,000 AN2,479,239
Olteygeraz 1,058,761,000& *1 1,058,761




= A
N = 0] &F AF S & AN A
20138 = 20 A EXNFEH| A
25 FHEH
HM: EXNFEFHZAY
@ 2ds EXNANFRREAHAMNG(ENFREHAL) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
FZ=HEA Y 2,022,973 9,621,903 A 7,598,930
EXNFE A ALY 522,973 621,903 A 98,930
E¥s EXNXNPREHCAIS(EXNREAL]) 522,973 621,903 A 98,930
ol 51 8] 466,373 327,358 139,015
801 0flHl HI 466,373 327,358 139,015
01 olldl bl 466,373 327,358 139,015
oolglgl 466,373,000 466,373
SHSEXNPEACXNR EXNFA NEZ 50,000 100,000 A 50,000
401 AlEHIZL 2 0HY| 50,000 100,000 A 50,000
01 Al&H| 50,000 100,000 A 50,000
O23s EXNFEAECIAMY dHAISH s2H
50,000, 000& 50,000
EXNFEHNAUHZTEE )& 6,600 43,440 N 36,840
401 Al HI L 204 HI 6,600 43,440 N 36,840
01 Al&H| 4,000 30,000 A 26,000
O=2dEs EXNFEHCIAMY MHUX 2 2EE
o =42 2,000,000 x2JH AF*13] 4,000
03 Al 201 Y| 2,600 13,440 A 10,840
O=23ds EXNFE MUXAN W2 MEsls
2,000,000 *13] 2,000
O=2XS EXNTE MUK W2 Yes22
300,000 *2&! X| *13] 600
HEES(EXNREHLIAY) 1,500,000 9,000,000 A7,500,000
WEAHNXES(EXNFREAL) 1,500,000 9,000,000 A7,500,000
LHEAHH K= 1,500,000 9,000,000 A7,500,000
701 JIEIS| HE =2 1,500,000 9,000,000 A7,500,000
01 JIEIS HE =2 1,500,000 9,000,000 A 7,500,000
OUSAMIEEFAH ME2 1,500,000,000& 1,500,000




>
A & 0l & AF 2 E A A
20138 & =04 S ALY MK
2N HBHHD
M HOWERD |4
©e: SYHFEI AAY SEIRF(RSAMY) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
2N 1,090,835 506,203 584,632
& 418,000
< 125,400
Al 547,435
dHusdE:e |4 1,090,835 506,203 584,632
& 418,000
< 125,400
Al 547,435
EYHFIXN AIAE SERF(LNSAY) 1,090,835 506,203 584,632
= 418,000
< 125,400
Al 547,435
=EH=ZX CCTV 24 237,195 400,447 A 163,252
201 Let24d] 237,195 400,447 A 163,252
02 =24l 237,195 400,447 A 163,252
O=28 =31 CCTV RAEs Y
3,209,247 ,600& *6% 192,555
OS28=3X d8II23 30,0003 12400 & +12& 44,640
Heglol2s =29 CCTV == 853,640 0 853,640
& 418,000
< 125,400
Al 310,240
401 A& HIZ 201 Y] 853,640 0 853,640
& 418,000
< 125,400
Al 310,240
01 A& HI 836,000 0 836,000
OeolE2s+9 CCTV & Xl
22,000,000& *38H 2 836,000
& 418,000
= 125,400
Al 292,600
02 2feldl 12,373 0 12,373
Oeol2s+9 CCTV & Xl
836,000,000 = 1.48% 12,373
03 A& SR THHI 5,267 0 5,267
Oogol2s+9 CCTV & Xl
836,000,000& *0.63% 5,267




—— A
N = 0] &F AF S & AN A
A WEINE
Y& DS BMOANE M2 L DS AW =3
G DNEHIAIL AL (WEAY) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
WEJNE W 42,196,923 58,693,927 N 16,497,004
2 200,000
&< 60,000
Al 37,236,923
Xl 4,700,000
WS HOAIE M3 € WsE o™ &8 23,227,490 41,839,486 N 18,611,996
2 200,000
== 60,000
Al 18,267,490
Xl 4,700,000
WEHMAIL 22| (WEAY) 23,060 1,023,060 A 1,000,000
WSS HMS 2 23,060 23,060 0
201 et d| 21,060 21,060 0
01 AF 2t 2| H| 21,060 21,060 0
OUEUNPIZ o ;ML
70,0003 x 162 33| 3,360
OUEAXN0SHASAAARS 3oEAELE
70,0003 x102 33| 2,100
OQusEdstas Nz A3 15,600
— 3o &AM et 70,000& x9H x103] 6,300
— AAFRE 100, 000& x9H «103] 9,000
—ANRESE 7Y 300,000 * 14! 300
203 €2 F=&d| 2,000 2,000 0
03 Al ZH =X 2= XIH| 2,000 2,000 0
OusSdMEz=A HLRZFXH| 2,000,000& 2,000
WECHHNNE 2 (WSAY) 36,616 26,000 10,616
Helol nEnNxssdE 29 36,616 26,000 10,616
201 et d| 10,400 0 10,400
01 AR 22l ] 10,400 0 10,400
ONelol NENESE 89 WM M|
500& x10,0008 5,000
ONelol NsnNed S o=
120,000 45X 5,400
307 212t0| & 6,000 6,000 0
04 QI2tSHALE & 6,000 6,000 0
ONelol nsEnNsd 89 6,000,000& 6,000
401 AlEHI 2L 201 Y| 20,216 20,000 216
01 A& H| 20,000 20,000 0
O0E0 RNESWNEHE ANeEES
20,000,000 = 14! 20,000
03 Al&E 201 Y| 216 0 216




AN nSI =0
M s HOYAME S & ns &M =2
S9l: DSOFDNE 2Y(DSAE) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O0elol nsusd B+ AE2U8I
20,000,000& = 1.08% 216
WEHHAL MNSE L S84 L3 (WSAY) 5,315,745 4,995,530 320,215
& 200,000
< 60,000
Al 5,055,745
WSANEE E232= 304,375 298,255 6,120
201 ¢er24] 304,375 298,255 6,120
02 =224l 304,375 298,255 6,120
Onsdlss I3 233,215
—-Jl=es 4,780& *1,406KWx 122 80,649
—ANEY 223 65.43 194, 400kW % 123 152,566
Ofoltts Zdl 24l 71,160
—SHes 85,000 *33CH =128 33,660
— &1 & Atdl 2,500,000& =150 13l 37,500
WESAUHHAIEE FHAY 3,108,370 3,258,775 A 150,405
401 AIEHI L 2 CHYI 3,108,370 3,258,775 A 150,405
01 A& HI 3,100,000 3,250,000 A 150,000
QUEANEE HUIAS (=ZFEEAM)
850,000,000 » 14! 850,000
OQuUESANEE FHAL(ZEAGEAM)
850,000,000 * 14! 850,000
QUEANEE HUIANS(ELEEAN)
1,400,000, 000 1Al 1,400,000
03 Al S HHI 8,370 8,775 A 405
OuUSHHEAEE ZHIAY AIZR0H
3,100,000, 000& *0.27% 8,370
oglol, o & HoHel Es72Y W (BZAY) 435,000 650,000 A 215,000
& 200,000
< 60,000
Al 175,000
401 Al HIZ 201 8] 435,000 650,000 A 215,000
& 200,000
< 60,000
Al 175,000
01 A& HI 435,000 650,000 A215,000
O0eol Esa49 Ha A
100,000,000 *40H A 400,000
= 200,000
= 60,000
Al 140,000
OkQ B339 MH&HAE 35,000,000 * 100 A& 35,000
oglol, =0 2 oo B9 NS (XHMAL) 1,090,000 125,900 964,100
401 AIEHI L 20HEI 1,090,000 125,900 964,100




2N
X ZH -
L= B

el

imi

SI=

DE HOAL HZ L DS O 2
DEAMAL MM L 584 2 DEAL)

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 Al gl 1,090,000 125,000 965,000
Oolglol, = Zojel E579 HUlAY
9,000,000& * 1094 A 90,000
OAZE EB&A &d HIIEX &X
10,000, 000& * 1004 A 1,000,000
s 48 ¢ 28 23 HH 378,000 132,000 246,000
401 Al HIZ 201 Y] 378,000 132,000 246,000
01 A&l 378,000 132,000 246,000
O (S A)XH HHl 378,000,000 » 14 378,000
ZUFNE 22 (LSAY) 398,190 259,500 138,690
SIAFUE ANEE FR2el 85,000 85,000 0
401 A& HIZ 2018 85,000 85,000 0
01 Al gl 85,000 85,000 0
OZEFIE AES |A2el A&
85,000,000 » 14! 85,000
SEFNHE =2 WS A 60,000 54,500 5,500
401 A& HIZ 201 Y| 60,000 54,500 5,500
01 A& HI 60,000 54,500 5,500
O2LEFXE =M WIS A
30,000,000& *2H A 60,000
= E L= A 121,190 100,000 21,190
T AIEHI 20 121,190 100,000 21,190
A& HI 121,190 100,000 21,190
OSSFXE L=3A &AL
648,000,000& *3.27% 21,190
O3S FXE Y=3AM 100,000,000 =100 2 100,000
SIAFUE ANEE &M & BEx=ZA 132,000 0 132,000
401 A& HIZ 201 Y] 132,000 0 132,000
01 A& HI 132,000 0 132,000
OZYZENT NES T4 U BLTA
44,000,000 *30H 2 132,000
SEYFNEY HE (LUSAY) 12,643,155 33,714,754 A21,071,599
Al 7,943,155
Xl 4,700,000
FEI AR BEFNE AE 151,080 200,000 A 48,920
401 Al HI K 201 I 151,080 200,000 A48,920
01 A& tI 150,000 200,000 A50,000
O24Aa%2 =XE X4l 100,000& =1,500m* 150,000
03 A& =2 THHI 1,080 0 1,080
OAnE F=X&E & AI420l
150,000,000& *0.72% 1,080




t

AN nSI =0
Y& DS BMANE M2 L DS AT =3
tel: ZYFTE A (BSEMY) (&
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
=S¥ = 688X SSFTHE HE 4,712,150 9,002,422 AN4,290,272
Al 12,150
Xl 4,700,000
401 Al HIZ 201 Y] 4,712,150 9,002,422 A4,290,272
Al 12,150
Xl 4,700,000
01 A& HI 4,500,000 8,472,297 A3,972,297
O=S&s 688X SL=IE HE A&
4,500,000,000& » 14! 4,500,000
Xl 4,500,000
02 2feldl 200,000 510,044 A 310,044
O=&s 6888 X sS=XE HE 2l
200,000,000& 14! 200,000
Xl 200,000
03 Al S THHI 12,150 20,081 AT,931
O=Zs 6888 X SSF=XE 28 AMERUH
12,150,000& 14 12,150
HES 563K SEF=IE AE 416,925 1,961,379 A 1,544,454
401 A& HIZ 201 Y| 416,925 1,961,379 A 1,544,454
1 A& HI 416,925 1,961,379 A 1,544,454
OHEs 563K SE=XE 28 EXNMHY
416,925,000& = 14! 416,925
LA =Y =Y =4 7,363,000 0 7,363,000
ANEHI &2 7,363,000 0 7,363,000
A& HI 7,363,000 0 7,363,000
OEX . A2S0HHl 230,000,000& 26 14 5,980,000
OZAHHI 20,000,000& =26 4 520,000
O & HIISX™eltl 30,000,000& =26 T4 780,000
OZ&EEIHl 1,000,000 20 2F & & It At *357H 70,000
Osg ¥ SJ1 85l 500,000& =26 T4 13,000
BHWSTIE A (WSAY) 241,475 284,390 AN42,915
YA NsE WEMAITS) 2SA 241,475 284,390 A42,915
201 £B-2d| 145,620 0 145,620
01 At 22l 145,620 0 145,620
OAMUHA 2O (240ITHOI) 2 H 22|
145,620,000 14 145,620
401 AIEHI L 20HEI 95,855 284,390 A 188,535
01 A& Hl 95,000 282,500 A 187,500
OHAFZSZHHSHZD Wi & OIXMAX
95,000,000& =14 95,000
03 Al =20 HI 855 1,890 A 1,035




AN nSI =0
HE: DS HOANE HZ L DE oW =
tel: EHNESIE M (LEMY) (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHAZEHNEHLD] WH & OldAX AR
CHyl 95,000, 000& *0.90/100 855
SADEMNL (RS AY) 3,304,000 0 3,304,000
AUSANE B 3,304,000 0 3,304,000
308 AHAIEHHSOIA 3,304,000 0 3,304,000
0B IIEtR Y= 3,304,000 0 3,304,000
ORELHAR(FR~2L)Z2AHEE ZE3
1,304,000,000& 14 1,304,000
O0IS2EXY FIEX RE3
2,000,000,000& 14 2,000,000
olelbl (RS AL ) 1,265,249 1,536,252 A 271,003
ol Bl gl 1,265,249 1,536,252 A 271,003
801 Ol I 1,265,249 1,536,252 A 271,003
01 olldldl 1,265,249 1,536,252 A 271,003
Ououldl gl 1,265,249,000& 1,265,249
HWees(nsSII& ) 18,969,433 16,854,441 2,114,992
SIS (LSAMY) 777,000 444,500 332,500
EXdXE 777,000 444,500 332,500
311 X+ 201 Xk &k 2 777,000 444,500 332,500
02 Al -2 - RXNEHLISXHL S0 X4 & 777,000 444,500 332,500
OOEs BEF:XE A X3 0k &
& =4,600,000,000& *01 £3.5% 161,000
ONM8l2s 24X A8 Xtz 0L &8
& 3=5,000,000,000& *01 £3.5% 175,000
OMEsEs SEFXE A SXt= 0k &
#=3,100,000,000& *01 £3.5% 108,500
ONUAS ST HE sXt= 04 &
& =5,300,000,000& *01 £3.5% 185,500
Ottd s 69Xl gs=xd 28 = 0k
&g 2 34,200,000,000& 0l £3.5% 147,000
HWEHAXS(RSAY) 18,192,433 16,409, 941 1,782,492
ANE2e 3¢ ASAS (FRHE 22 17,064,592 15,217,278 1,847,314
309 H=E2 17,043,497 15,217,278 1,826,219
02 SA - SHINEES 17,043,497 15,217,278 1,826,219
OFX & 2tel 17,043,497 ,000& 14 17,043,497
404 SIS =2HES 21,095 0 21,095
02 SAt-sHT=dES 21,095 0 21,095
OFXE 2el 21,095,000& =14 21,095
ANEZ2BE AEANS(RSHEALEH) 1,127,841 1,192,663 A64,822
309 MEZ 1,127,841 1,192,663 A 64,822
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g Al

A

= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
ni; 6,820,774 6,392,315 428,459
= 127,450
< 518,001
Al 6,175,323
A XA 1,853,286 1,355,915 497,371
= 127,450
< 518,001
Al 1,207,835
WEEAN EHS(WEAMY) 416,016 453,898 A 37,882
SHFIXNES 2012 AY 3,300 3,300 0
303 &3 3,300 3,300 0
01 Z2&= 3,300 3,300 0
OSEFIXES 20(2 Al 3,300
— I 1,500, 000& 1,500
- 1,000,000& 1,000
— & 800,000& 800
WEXNEHS AIBSIRFA 5,000 5,000 0
201 LBt | 1,000 1,000 0
01 At 22l 1,000 1,000 0
OSYF=EX E2= HMES AIR2cltl
1,000, 000& 1,000
203 YR =&l 4,000 4,000 0
03 A FXH S =AY 4,000 4,000 0
OUSXNE A d2FX 4,000
—wNsSEM HEES =4 2,000,000& 2,000
— 283 33X ¢s8s & 2,000,000 2,000
s 3 93,888 97,488 A 3,600
201 Let24E] 48,888 48,888 0
01 At 22l 47,088 47,088 0
ONSHAHY BFEE SHU(XII)
7,000 «3H 20«12 5,040
OAl -7 28 = -3X 58 H=(EF=,0
£2.88) 292,000& 48X x33| 42,048
02 2324l 1,800 1,800 0
OusSXNEets3d 24X
200,000 x9H 13 1,800
202 044l 45,000 48,600 A 3,600
02 X 45,000 48,600 A 3,600
Os8=F- - FX . HA - 8Al-S=SXHEEHSE o
i 150,000 x25H «12& 45,000
g =3I UEHHE SE;ALE 2= 38,160 38, 160 0




EM USRS

M nSAEXH

H@Hel: nSEMN Y (nsSAg) (22 &d)
= - = 4 &

SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
201 2er= 4l 38,160 38,160 0
02 S2=24Hl 38,160 38,160 0

O A z=g 80& x180,00024 14,400
O28 =-2dX UHE SEA2E RAE+
1,980,000& x12& 23,760

HA dEE =0 &X &5 42,000 42,000 0
401 Al HIZ R0 8] 42,000 42,000 0
01 Al&HI 42,000 42,000 0

OHAZERE & W2 JdEE FANES
3,000, 000& #1404 2 42,000

NEEAM SAHH X 194,450 204,450 210,000
307 glztol & 194,450 204,450 A 10,000
02 el2FAEXR 194,450 194,450 0

ONel ol RSN A (NSEAMAES]) 57,000
—A=gsH XA
3,000,000 =42 J| =274 K| 24,000
—H== 2g K& 35,0003 300 24 Xl 21,000
—unSAHMEFH 2Y N
20,0002 *300E 2K &t &l 12,000
OO RnSAHAXA(2LE 2 X3E]) 61,850
—H=gsdl XI& 3,000,000 *42|«37H Xl 36,000
—AEs 2 N2 35,000& »470H 16,450
—WEA-EH 2 XA 20,0003 »470E 9,400
ONelol RSt A (=A00LIS) 75,600
—AE=s & A 2E X2
20,0002 x5S *63 1 *x123] 75,600

ST FE S ALY 22|10l MHlA 32,218 63,500 A31,282
201 2er2 4l 8,600 0 8,600
01 At 2t 2l | 5,000 0 5,000

OFF X ALt &5 ALE €2l0l MHlA 822
AN 5,000,000& 5,000
02 3224l 3,600 0 3,600
O3 28t &5 AHd 220l ML 2AR
= 300,000& »12& 3,600
207 742l 23,618 63,500 139,882
02 & AR 2] 23,618 63,500 A 39,882
OF=gd Xt gt &t AME &€el0l AMHIA 23,618
— €20l NMHlA BotE=RA
20,000,000 14 20,000
—ANAE RIE+ 603,000& 6 3,618
NENHSHUMNLATSLHLANE FY SHFA X 7,000 0 7,000
2 (XHA)




WS At 2
NSEAN BHY(RSAY) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 7,000 0 7,000
04 QIZ2tSHALE = 7,000 0 7,000
OXNsXHE2HHILLEGANSE S4EFZ A
A& 3,500,000 23] 7,000
HAOE L3 (LEAY) 210,308 232,700 A22,392
HA SHAA &S 9,308 9,700 A 392
201 £B-2%H| 2,908 3,300 A 392
01 At 22l 2,908 3,300 A 392
OHAZSSAY AR 22l 1,000,000 1,000
OHA SEXDOX & t S (0F2)
7,000 «3H 43|« 122 1,008
OHAREM? XNEHERA0 S| 900
— gst= 150,000 x5H x 13| 750
-2 X 30,0003 x5H *13] 150
202 44l 5,400 5,400 0
01 SLHOIYI 5,400 5,400 0
OHASHAR S AIZFHAHAEE b
150,000 x3H «12& 5,400
203 YR =2t 1,000 1,000 0
03 Al =AY 2= 1,000 1,000 0
OHARESAMG AIX 23 =& 1,000,000& 1,000
HAEFE 22 & E= 201,000 203,000 A 2,000
201 Let249] 1,000 1,000 0
01 At 22l 1,000 1,000 0
OHA - BAIZFREOME 22 8% HE
100,000& 102/ 1,000
207 51 OH £ Hl 60,000 0 60,000
01 2284 60,000 0 60,000
OZ2 - 08 EFE AMEME 29|
60,000, 000& =14 60,000
401 AIEHIZ 28I 140,000 202,000 A 62,000
01 A& HI 140,000 202,000 A 62,000
OHA FZAES (52U, HAHO) &X
20,000,000 *7H 2~ 140,000
BAI2EIE (RS AY) 1,220,292 662,314 557,978
= 127,450
< 518,001
Al 574,841
BASHHRATS Y BHAIEHEAY SS2SHE (X 33,840 51,130 A 17,290
HIAFS)
201 ¢er24l 3,440 20,730 A17,290




2N HESLSH
g DSAMEXE

Ce: SHA2IGNE (RS AY) (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 At 22l 3,440 20,730 A 17,290
OSAN=HIAdAR NS 1= 1,440
— gets 150,000 *8H x 13| 1,200
-2 X 30,0003 x8H *13] 240
OEAl HEAZ HMEHI 250,000& *43| 1,000
OoAHAZX=N MS AFR 22l 1,000,000 1,000
202 oddl 14,400 14,400 0
01 = LH 4 1l 14,400 14,400 0
OHAlSHA R = AIZFHAHEE O
150,000& x8H »12& 14,400
203 YR =2l 1,000 1,000 0
03 MM FXH S Z=AY| 1,000 1,000 0
Oz =28HIY 5833 =4 1,000, 000& 1,000
301 et a3 15,000 15,000 0
10 #AHAHIEAZ 15,000 15,000 0
OHAlEgHdR S HER WSH M3
15,0003 x10H 100 15,000
BAIZZE 2 2 B+ 23,000 23,000 0
401 AIEBIZ 28I 23,000 23,000 0
01 A& HI 23,000 23,000 0
OHANZFE 2l & 22 100,000 3004 & 3,000
OHAIZXE S 4X 1,000, 0002 *20H A 20,000
BHAl WSIHE SHYI| =22 398,752 169,584 229,168
< 199,376
Al 199,376
307 21201 A 398,752 169,584 229,168
< 199,376
Al 199,376
02 It A8 X 398,752 169,584 229,168
OusSote &) sdz XN&
4,000& *3,601CH =128 172,848
< 86,424
Al 86,424
Ounsate ¢ It =3 XN
225,904,000 225,904
< 112,952
Al 112,952
BAl CIXNE 2SHIIEAH &X 764,700 418,600 346,100
= 127,450
< 318,625
Al 318,625
402 212t X201 M 764,700 418,600 346,100
= 127,450




2N HESLSH
g DSAMEXE

CHR: ARG (REAIY) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
[ 318,625
Al 318,625
01 QX2 X 764,700 418,600 346, 100
OEAl OXE 2IIEAH EXH X
300,000 x2,549CH 764,700
= 127,450
=} 318,625
Al 318,625
SIS2SEAM SHE(WEAY) 6,670 7,003 A\ 333
S22 HARE &5 4,108 3,928 180
201 LBt | 3,108 2,928 180
01 AP 22| d| 3,108 2,928 180
OslE2xXe SMEI ANESHER 102 900
— gtEt= 150, 000& x5H x 13| 750
-2 X 30,000 x5 «13] 150
OSLMIADA SHCHE Z2HH|(0F2H)
7,000 x3H x4 x 128 1,008
OII=SSAIY 2 AR 22l H| 1,200,000 1,200
203 R F & 1,000 1,000 0
03 AIZH =X 25 X H| 1,000 1,000 0
O3t S2SsAMY A 25 =& 1,000,000 1,000
NEHXMEZ2 ) FAES 2,562 3,075 A513
201 gEt24Hy| 2,562 3,075 A513
01 AP 22| d| 2,562 3,075 A513
QuEddTz )l KAESE
25,619,000 *10% 2,562
HESHAYH (H=SREW) 261,516 202,728 58,788
Ol AY|(NEAY) 261,516 202,728 58,788
oA ALY 261,516 202,728 58,788
101 e1214| 261,516 202,728 58,788
02 JIEFR &2 %= 261,516 202,728 58,788
OHASYHHRACHS AIZEHIH SR B4 62,669
-20 1,142,120 x3¥ x12& 41,117
—HAABEEHZ2 41,116,320 x2.9% 1,193
— A RQLUYBEE 2 1,192,370 %6.55% 79
e == 41,116,320 *1.4% 576
— A EE 41,116,320 *1% 412
—=20HZ 41,116,320 x4 . 5% 1,851
- s
100,000 * (35A] 2F/40A| 2+ ) «3H « 128 3,150
— EstH X4
51,4002 = (35A1 2H/40A| 2H) 3 x4 =2 | 540
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HM: HM2AAH(H=SWEW)
chol: ol 2l (REAY) (sl &2)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
ST
105,000 *(35A] 2F/40A| 2+ ) «3H «12& 3,308
— dHZ A 130,000& x3H 12 4,680
— o0 At
(1,069,330 x70%) /226 Al 2+ x84 A| 2t x3H 835
—NZelag
3,510 x10A| 2tx35/40+3%H x 12& 1,106
—dAaNH2 3,821,727 100% 3,822
OEHAEE AIZFHH SR B4 165,847
—-—=20 1,142,120 8 » 12& 109,644
—AABEEHZ 109,643,520 *2.9% 3,180
—AJRQYEE = 3,179,660 *6.55% 209
— 18288 109,643,520 *1.4% 1,536
—AMEE 109,643,520 *1% 1,097
— 20032 109,643,520 *4 . 5% 4,934
- JIExg
100,000 *(35A] 2+ /40A| 2+ )«8H «12& 8,400
— NESHHIEX
51,4002 x(35A1 2H/40AI 2H) x1H x4 2 | 180
e =y |
105,000 * (35A] 2+ /40A| 2+ ) «8H « 128 8,820
— dHZ A 130,000 x8H ~12& 12,480
— DB Ak
(1,069,330 x70%) /226 Al 2+ x84 A| 2t x8H 2,226
— A2t =
3,510 x10A| 2tx35/40+8%H x 12& 2,949
—dAaH23 10,191, 272< *100% 10,192
O&gz23 3,000,000 x11H 33,000
WRES (SRS 4,705,972 4,833,672 ~127,700
HWEHH XS (REAZ) 4,705,972 4,833,672 AN 127,700
AN 2D ZCH QEAH (HQIAY) 3,875,453 3,886,249 N 10,796
309 8=2 3,871,453 3,886,249 N 14,796
02 BA- 2HI3NMNEEZ 3,871,453 3,886,249 N 14,796
OAHQIAIS 012t EF 2,151,629,000& 2,151,629
OSEFEXN HEE2XR 29
1,719,824 ,000& 1,719,824
104 2| A2HE2 4,000 0 4,000
02 SAH- BHAS2EEZ 4,000 0 4,000
OHQIAIY 012t EF 4,000,000& 4,000
ANEZC|Z2C AEANL(AISS HAZIIIDA 22]) 418,619 428,423 N9,804
309 HE2 418,619 428,423 £9,804
02 A - 2HINMNEEZ 418,619 428,423 N9,804
OANEE 29 XDAX Q2 E 418,619,000 418,619
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N = 0l & At & Ml A

AN =37 ZHNLSH
HE: DEIAN =
Eel =XE A2 (LSAY) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=3P ZHnsSH 841,538 1,102,686 A261,148
nEedN =g 644,076 926,715 A 282,639
FIE S22l (RSAHY) 164,200 417,381 A253, 181
SEFUE ANEE RANE* 121,600 344,169 A 222,569
401 AIEHI L 20 121,600 344,169 A 222,569
01 A& HI 121,600 340,800 A219,200
OZBIE=XE AMEE FNES 106,600
—CCTV & 2MAAY SN2+
2,600,000& *109H £ 26,000
—AgEIANEES RRE=
1,800, 000& *7H A 12,600
—FE PE2 A4
3,500,000& *109H A& 35,000
—FUE HIANEE RANE>
1,500,000& *109H A& 15,000
— FRHAZM U IERISE
1,500, 000& * 1204 A& 18,000
O3Z=xd ANES 22 15,000
—SEFXE HEANE2U £
1,500,000& * 1094 4 15,000
SIFUHE 29 42,600 69,812 N2T7,212
201 L2l 17,600 69,212 A51,612
01 At 2t 2l 15,800 66,512 A50,712
OZYFHET B2l 48|
200,000 * 1200 2 2,400
O3 et i 9=
700,000& 128 8,400
OZYFAT Ot 49 M=
100,000 * 1000 2 1,000
OZEHs slu2STMLEE =2 M
100, 000& *200H 2 %23 4,000
02 2324l 1,800 2,700 A 900
OZEF=XE MASU=s 150,000 * 1200 & 1,800
401 AIEHI L 20 25,000 0 25,000
01 A& Bl 25,000 0 25,000
OF&Jt 4& AN3E =XE =43 AM
25,000,000& =14 25,000
EY FEX 2l (LSAY) 461,604 492,795 A 31,191
EYFEX H= 461,604 492,795 A 31,191
201 L2l 437,704 457,095 A 19,391
01 At 22l 109,510 121,698 A 12,188
OE=ZHI(PDA,It0ICH S) =2l & ARES
500,000& »12& 6,000




25 337 AHNEN
B nEIN =
el 29 EEX 22 (REAY) CERED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OSgzax 0% 2 dtle 24008 Zg
H &4 500,000 x12& 6,000
OSYF=EX YBEHE AEIH HE
198&! «6, 00000 12 14,256
OPDA cte& = X 1,100& %1,5002 1,650
Osl &t 2 CCTVEH S ME22 0 MM EXNAN
2| F= Ml & 120& *8,00000 x12& 11,520
OSEFEXN s 349 &
100, 000 *60H 6,000
OSEFEXN Y =282 ®SX M2
1002 x10, 0000H x23l 2,000
OSEHFEX o JQAANSAMO/ARE 2HSE
= 70,0003 x5H x26 3] 9,100
OS8HFEX UElE HEIIE 1AM 2AF=HEH
77& %3, 70000 *12& 3,419
OQIElE HII2 LKA BtEE2 AF=H &
77& *1,80000 *12& 1,664
OdeEEd E= AN AF=HE
77 %3, 20001 x12& 2,957
ONE T M €8s DM 2AF=H 2
772 %35,0000H *53] 13,475
O8UYE MY €8s DM 2AF=H 2
77 %1 ,6000H 93] 1,109
OFEZXNIEE XS =2
550,000 x12& 6,600
OlElE I EIIE 2 ¢2)| A=
16,0002 x12& 192
OQIEHE AlIEIE 2 S| AIE =42
400,000€ x12& 4,800
OBsAs 200 =2 X2 300,000 x10A 3,000
O0lsE CCTVItI 2t | Xl & =4
250,000 x12& 3,000
O3 &l 12,768
—=SYHFEI} & 22X 24| 12,768
= 7,000 x2H x20L x12& 3,360
Of2t&t = 7,000 x4H x202 x 128 6,720
sSackx 7,000 x4H «8L x12& 2,688
02 Z2=2=24%4| 328,194 335,397 ANT,203
OREe= 309,297
— S A A CCTVEES AT S KA 28522
1, 7703 x7 5000 x 12& 159,300
—=Y8FEX YHE HIIS2 DA RER=2
1, 7703 %3, 70001 x 12& 78,588
—=YFEX YHE HIIE2 DAAN BEE
LQERS 2703 x1,8000 x12& 5,832
—gesY S5 1NN PERS
2703 %3, 2000 x12& 10,368




25 337 AHNEN
HE: DEIAN =
et 2 = 22 (REAMY) EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— DAL MEHE RS
1,770 *3000H 531
—EE MY HESsH DA R2ER2
270 x35,0000H 53] 47,250
—8UEE MY ESH DA R2ER2
2702 x1,6000H x93 3,888
— 29X e & RERS
1,770& %2 00021 3,540
O=YFAX o= PAYA AIE S
10,000 x50 x12& 600
OR&EI SA AMES= 35,000 x6L x12& 2,520
OZ20LU M A== 22,200& x50 x12& 1,332
OPAEHETIE MESE AHUANES
70,340 x12& 845
OSEFIX SFHE 32 Ly HY|
200,000 x14H 2,800
OSYHFEX HA2AIAEY S E 2|
900,000 x12& 10,800
202 04 H| 14,400 32,400 A 18,000
02 NI 14,400 18,000 A 3,600
OSYHFEA = AIZEM HZXE H]
150,000 x8H ~ 12& 14,400
203 R F & 3,000 3,000 0
03 AIZH =X 25X H| 3,000 3,000 0
OSYHFAEX o L Ax=SHE 2tE3
20,000& x50 *33| 3,000
405 XHA&HF S HI 6,500 300 6,200
01 XAt 2 FF S| 6,500 300 6,200
OPDA St DI (CHAN) 1,300,000 x5CH 6,500
NERUBLZ SPNTLS (WS AY) 18,272 16,539 1,733
WERLELGZ2 AIE= T A 18,272 16,539 1,733
101 Q124 H| 12,900 11,844 1,056
04 JI2ZtHIZ2 2 ANEES 12,900 11,844 1,056
OQUERLUELEYZ2 M= ZAE o2 6,314
—J=2=2 38,9703 x9H 15 5,261
—5adg 38,9703 x93 1,053
ONSRLTLI a2y 2Ry 5,847
- J=22 38,970& »2H x60L 4,677
—sysy 38,9708 22 *122 936
— X 38,9703 2 3L 234
ONERLTLI ZAY L AU 4G
g2 739
— 2042 5,847,000 x4 .5% 264
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SA BB O () - MM - HES 0l &+ o4 il
—d2d2E 5,847,000& *2.9% 170
—&AJ)RYEE 170,000& *6.55% 12
—1E2E 12,161,0002 *1.4% 171
—MNEE 12,161,000& * 1% 122
201 LBH2EH| 5,372 4,695
01 At 2t 2|l 2,461 2,270
ONESLRLS FLMAAAE BH £
70,000& 54 350
OCusSREREZ XM ME 773 *3,0000H 231
OussegsRgs =5 MA 603 *3,0000H 180
Ounssegsga 82 8% ME
100, 000& * 174 £ 1,700
02 3323l 2,911 2,425
ORERS 2,571
—sJI*H 1,770 x1,30024 2,301
— e 270&+1,000AH 270
OgF & 7ok SE8AM HAFLSK 2
3,000& »100AH 300
OCUSREFES YA 2 =2
80& 50024 40
HHSYYH (+F7 ZHLSD) 197,462 175,971
AH2IEH (RS AIY) 197,462 175,971
ol 2AH| 197,462 175,971
101 14 bl 197,462 175,971
02 JIEt A 2+ 197,462 175,971
OSYZ=FI o AIZFHAH LA o4y 190,896
-=20 1,126,390& «8H x12& 108,134
—IRAHLEERE 108, 134,000 & *2.82% 3,050
-3V RQYBEZ 3,050, 000& %6.55% 200
—=0AHIEER 108, 134,000& *4 5% 4,867
—1E2E8s 108, 134,000& *1.4% 1,514
—dATHAHEE = 108, 134,000 * 1% 1,082
— &3z 6,000,000& 5% 30,000
—EY
80,0009 *35A1 2H/40Al 2+ %8 x 128 6,720
— A g2xdl
105,000& *35A1 2 /40A] 2t +8H * 122 8,820
— dAg Ayl 130,000& x8H »12& 12,480
— A4Sy ExY
420,000 *35A1 2+ /40 Al 2t 1 %4 3] 1,470
— Giot2 4l
1,126,390% x70/100/226* 140 Al 2+ x8H 3,908
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Hu: DEINEY
©9: DSRYLLI RUI4L(DEMY) CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—1E2E 41,856,000& *1.4% 586
— =20z 11,692,000& x4 .5% 527
—HLEE 11,692, 000& *2.9% 340
—LoAINRAEH 340,000& *6.55% 23
201 LBH2EH| 28,290 20,051 8,239
01 At 22l 7,490 3,076 4,414
OQussZRg=s &8 DM M 1,540
—&J|2 DXNA 773 %10,0000H 770
—Heg2XxA 773 *10,0000H 770
oMY LdR(AMHM)ZSEAN =5 HE LS
3,000& 50004 1,500
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70,0003 x5H » 13 350
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—uteH 270 10,0004 2,700
s|<d# 1,770& %10,000A 17,700
OQussZLRYs YA ER =2
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SEFNHE RA B+ 69,500 96,692 AN27,192
401 AIEHI L 201 69,500 96,692 AN 27,192
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TwEXHEX 7 24 30,002,160 15,002, 160 15,000, 000
202 4 Hl 2,160 2,160 0
01 S LHOIYI 2,160 2,160 0
OHWE XL 2E As58 Ol
20,000 «3H »33] »12& 2,160
305 a2 S 30,000,000 0 30,000,000
01 thHaf=8 30,000,000 0 30,000,000
O WX+ SHXOHDALYE A2t 2o
30,000,000, 000 14! 30,000,000
Hui+ #HX3s 342,090 322,450 19,640
201 L2l 342,090 322,450 19,640
01 At 221l 342,090 182,450 159,640
OgXlEss ¢d231 10,000, 000& 23] 20,000
OHXl=sS 22858 MZ 16,000,000 22 32,000
OHXZE ZHEYI 242
200,000,000& 14 200,000
OA2&3SIl 2UHHIE 10,000,000 * 14 10,000
O&dgewi= OIHAER 22EH
50,000,000& =14 50,000
OZelH Ed ¥ E872 3150003 64«63 11,340
OFFH & Zaly =2/dl 150,000 *5CH *53] 3,750
OF2eED ¥ #AXE RO
15,000,000& =13l 15,000
T X7 EHXIOHE ALY 25,008 23,485 1,523
101 124 dl 12,808 11,285 1,523
04 JI12ZtHZ22HEE = 12,808 11,285 1,523
O8I & 23 ditzels URY 12,808
—Jlas 38,9703 «1H »220 8,574
—suaosy 38,9708 12 +442 1,715
—Qx=g 38,9703 x1H 10 390
— ZE SO 500,000& 1 »23] 1,000
— 40 EE 11,679,000& *9.66% 1,129
201 ¢4l 7,200 7,200 0
01 At 22l 7,200 7,200 0
OHuEIEg AM4ZZ20Y KX 2e|
600,000 12& 7,200
203 YR =&l 5,000 5,000 0
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03 Al Z=Z AR EAY| 5,000 5,000 0
ORalla & FeI2tg3l 5,000,000 5,000
T X SHXIOHEALS Ol THE olblbl 370,662,236 210,189,518 160,472,718
801 GBI 8l 370,662,236 210,189,518 160,472,718
01 oildl bl 370,662,236 210,189,518 160,472,718
Ououldl bl 370,662,236,000& 370,662,236
HAAIE 2SS (BRI XIHLASY) 16,956 10,474 6,482
FANSI R ARA SHoHA 16,956 10,474 6,482
201 Let249] 16,956 10,474 6,482
02 =24l 16,956 10,474 6,482
O=Ex& KX 8,478,000 »2H 16,956
2L ZH (S AIHL D) 36,040 39,960 A 3,920
Jl2dyl (B UEXINEALS) 36,040 39,960 A 3,920
Jl=dl 36,040 39,960 A 3,920
201 £B-2d| 14,040 17,160 23,120
01 At 22l 14,040 17,160 A 3,120
OFM2gHI 60,0003 «9H x12& 6,480
OPIE=1i:] 70,0003 «9H x122 7,560
202 odl 16,200 19,800 A 3,600
01 = LH o4 1l 16,200 19,800 A 3,600
OHWEXIHE AL =& (4|
150,000 x9H «12& 16,200
203 YR =2l 1,800 3,000 A 1,200
04 EA2IYRFEH| 1,800 3,000 A 1,200
ORN2EYRF=AHI 150,000 128 1,800
405 XHoHF S HI 4,000 0 4,000
01 AL SEH S| 4,000 0 4,000
OZet=Z 2l () 4,000,000 = 1CH 4,000
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AL =& 5,294,270 6,150,277 A 856,007
T X7 EHXIORE 5,225,820 6,096,877 A 871,057
DX P SBHXELAS (B WE XL AS) 5,000 518,600 A 513,600
BTN 2 202 o 5,000 15,000 A 10,000
203 ¥ 2 =&t 5,000 15,000 A 10,000
03 Al ZH =X 2= XIH| 5,000 15,000 A 10,000
OEXINY 2 HR2FA 5,000,000& 5,000
ZANE S J|BAE AL (BHDEITIHEAY) 5,220,820 5,571,795 A 350,975
NStz ASHZIUE 2 4,770,000 4,812,000 A 42,000
308 AMXIESHMSOIA 4,770,000 4,812,000 AN 42,000
08 JlEIR Y2 4,770,000 4,812,000 A 42,000
ONSUAREBERZ ASHZUY =g
4.770,000,000& x 14! 4,770,000
OHWEXIX R BHEEE R ZA B3 450,820 0 450,820
308 MXISHMSOIA 450,820 0 450,820
08 JIEtEE = 450,820 0 450,820
OTFWEXIAFH BN 8 SAN BE2
450,819,520 1Al 450,820
SHESAAH (A =X D) 68,450 53,400 15,050
JI2ZH (Bt EN T JHEAIY) 68,450 53,400 15,050
Jl2 &34l 68,450 53,400 15,050
201 LBt Y| 23,400 23,400 0
01 AP 22| d| 23,400 23,400 0
OBA29H| 60,000& 15 x12& 10,800
OJls32 &l 70,000 x15% x12& 12,600
202 o4 | 27,000 27,000 0
01 2Ll 27,000 27,000 0
OJI2ge=a0udl 150,000& x 15 x12& 27,000
203 €2 F=&d| 3,000 3,000 0
04 EANSH LR F=XH| 3,000 3,000 0
ORI YR 250,000 x12& 3,000
405 XHA&HF S HI 15,050 0 15,050
01 XML 2 FF S| 15,050 0 15,050
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1,100, 000& = 10CH 11,000
OXE2 HHIAHOI&E(AR) 400,000 =14 400
OZgIH (M) 2,400,000 =14 2,400
Oy HI& (422 X, CHAI) 850,000 =14 850
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